NOTES:

1. THE ELF6375DXD HAS BEEN TESTED IN ACCORDANCE WITH MIAMI-DADE COUNTY
PROTOCOLS TAS-201, 202, 203 FOR LARGE MISSLE IMPACT, UNIFORM PRESSURE AND
CYCLIC WIND PRESSURE

2. THE LOUVER SYSTEM IS APPROVED FOR APPLICATIONS WITH DESIGN PRESSURES
OF+/-148 PSF OR LESS.

3. THIS LOUVER SYSTEM IS NON-BEARING AND IS NOT DESIGNED TO WITHSTAND
BUILDING DEAD LOADS.

4. LOUVER ANCHORS ARE REVIEWED FOR ATTACHMENT INTO STEEL, ALUMINUM,
CONCRETE, MASONRY BLOCK (CMU), WOOD SUBSTRATES. MINIMUM EDGE DISTANCE AND
EMBEDMENT REQUIREMENTS ARE SHOWN. RUSKIN DOES NOT DETERMINE THE
STRUCTURAL INTEGRITY OF THE SUBSTRATE.

5. MAXIMUM SINGLE SECTION SIZE IS 87 7/8" WIDE X 119 3/4" HIGH.

6. MAXIMUM ASSEMBLED LOUVER SIZE: UNLIMITED WIDTH X 119 3/4" HIGH. MAXIMUM
MULLION SPACING IS 87 7/8"

7. SECTIONS OR ASSEMBLIES MAY BE STACKED VERTICALLY PROVIDNG A SUITABLE
STRUCTURAL SUPPORT IS DESIGNED AND INSTALLED BY OTHERS TO SUPPORT ALL LOADS
TRANSFERRED FROM THE LOUVER.

8. TAS 100A FOR WIND DRIVEN RAIN WAS NOT PERFORMED

9. ALL DISSIMILAR MATERIALS INCLUDING STEEL THAT IS IN CONTACT WITH ALUMINUM
SHALL BE PROTECTED IN COMPLIANCE WITH FLORIDA BUILDING CODE 2003.8.4.2

10. HDG = HOT DIP GALVANIZED

FNGINEER UOF RECORD

CHELSEA GQ. WELCH

DRAWING INDEX:

60-022375-00B SHEET 1 OF 20 - NOTES AND DRAWING INDEX
60-022375-00B SHEET 2 OF 20 - ELF6375DXD TEST LOUVER - ASSY 'A’
60-022375-00B SHEET 3 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 4 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 5 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 6 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 7 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 8 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 9 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 10 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 11 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 12 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 13 OF 20 - SECTIONS & DETAILS
60-022375-00B SHEET 14 OF 20 - PART DETAILS
60-022375-00B SHEET 15 OF 20 - PART DETAILS
60-022375-00B SHEET 16 OF 20 - PART DETAILS
60-022375-00B SHEET 17 OF 20 - PART DETAILS
60-022375-00B SHEET 18 OF 20 - PART DETAILS
60-022375-00B SHEET 19 OF 20 - PART DETAILS
60-022375-00B SHEET 20 OF 20 - PART DETAILS

FNGINEERTNG DISCIFLINE *REFERENCE NOTE: THESE DRAWINGS ARE A COPY OF THE DADE CO.
CIVIL ENGINEERING APPROVAL. ANY REFERENCE, TECHINCAL OR CALCULATIONS ARE PER
REGISTRATION NUMBER N.O.A. #12-0601.22

TX# 117359

CHANGE DWN. CHK'D. APPVD. | APPVD.
LETTER REVISION DESCRIPTION BY: By: BY: BY:

DATE

DWN. CHK. APPYVD.

e: JW [ CGW Ilev

APPVD.

CGW _[ev: @@SK JM 3900 DR GREAVESRD | | oo

DATE: DATE:

DATE: .
101014 | 1010114 | 1011014 BRI O

DATE: GRANDVIEW, MO 64030 NONE ECN: 4539

SHEET 1 OF 20

FOR OFFICE USE ONLY
FOR OFFICE USE ONLY

TOLERANCES

DECIMAL DIMENSIONS:

I PLACE XXX +.010

2PLACE XX +.020

FRACTION DIMENSIONS: + 1/16
ANGLE DIMENSIONS + 2°

USE WIQ-007 & 008

UNLESS SPECIFIED OTHERWISE

TITLE DWG. NO.

ELF6375DXD TEST AND
APPROVAL DRAWINGS 60-022375-00B




7y L FRAME
—ele—1/8" 263 3/4" —=f-—1/8" - FRAME
- 87 13/16" T 37 7/g" 87 13/16" /" _| REF ITEM 1| 6063-T5 EXTRUDED ALUMINUM
~— 29 1/4" 29 5/16" 29 1/4"—| 29 5/16" 29 1/4" 29 5/16"  {=—29 1/4" 29 5/16" 29 1/4" —| SHEET 14 | BOX FRAME WITH .080" NOMINAL
‘ — — — — — y WALL THICKNESS
& & o m & i BLADES
h i & - & i 6063-T5 EXTRUDED ALUMINUM
2 = = 3 3 3 WITH .080" NOMINAL WALL
it it B B i i THICKNESS. BLADES ARE
o o B 5 5 5 POSITIONED AT 37.5° ANGLE
= = = = = = SCREEN
b = e FINISH
P B i i ¥ i MILL
[RN] T [y [} [N} =)
g 2 7 5 g = ACCESSORIES
& 5 5 s & . NONE
i 7 7 = i —] 3
& & // 2 2 2 S
5 5 / 5 A : =
= B / = 0 3 F—
M M / ;'I l': Il:fl l|::|[ \
L 17 o 7 T tH . t N JAMB FRAME
\ REF ITEM 3 SHEET 14
REF. DET. 4 J i REF. DET. 3
SHEET 5 SHEET 4
ENGINEER OF RECORD ASSEMBLY A ELF6375DXD
CHELSEA GQ. WELCH SILL FRAME
NT.S. FRONT VIEW REF ITEM 2 SHEET 14
Dl QTY: (3) ASSEMBLY REQ'D w/ 3 SHIP SECTIONS PER ASSEMBLY
CIVIL ENGINEERING
REGISTRATION NUMBER
TX# 117359
> -
..-""‘E“(.)\;\r \ -ZJ =
f@.l';*j-f,..‘?." 8 8 EE#:E%E REVISION DESCRIPTION g\"}:‘N- (Bi‘l;':K‘D- gs:’\f'ﬁ. gsz’\f‘D- DATE
H _‘:.".. ."‘-,.‘.'0 ) 92, DWN. CHK APPVD. APRVD. e
g’ HELSEAG WEroiT] |- o .yl W e COW o CGW o E@SKHM GRANDVIEW, MO 64030 4539
"X ~7 W O S E| fonona | 101014 | 10110114 Air & Sound Control NONE jeon
[ 117359 LL_L) E o %?' % TITLE DWG. NO.
= I Sog2%st ELF6375DXD TEST AND
SRExSEEY APPROVAL DRAWINGS 60-022375-00B
ﬂ: m % ww OO Ly
8 8 gEgggg;g SHEET 2 OF 20




\\yiil// 1;///' s L 212

g

N

—

1/4" @ BOLT,
WASHER, LOCKNUT

REAR SUPPORT
REF

~—— BLADE
REF ITEM 4 SHEET 15

(2) #10 X 1" LG |
TEK SCREWS

- —~—— SNAP-ON BLADE

\//>*

'

11/2" X1 1/2" X 1/4" X 2" LG
ALUM. CLIP ANGLE. 2" FROM
CORNERS AND 15" MAX O.C. ITEM 7/16

/

/ MIN. (2) 2 X 10, SG=0.4

1/4" THK COLUMN ENDPLATE
REF. DET 3A ON SHEET 4

AN

172" A307 BOLT, WASHER,
LOCKNUT

ENGINEER OF RECORD

CHELSEA GQ. WELCH

EFNGINEERING DISCIPLINE

CIVIL ENGINEERING

REGISTRATION NOMBER

TX# 117359

FOR OFFICE USE ONLY

FOR OFFICE USE ONLY

5.G.=0.4

/ 2"\ SILL DETAIL- WOOD SUBSTRATE (HEAD SIM)

N.T.S.
REF DETAIL 2A/9, 2B/10, 2C/11, 2H/12 FOR
ALTERNATE SUBSTRATE MATERIALS

N

BRACE CLIP |
REF ITEM 5 SHEET 15 B?ECAKLEAIT\I ROD &
T 1/4" MAX
i ' 4  BLADE REF
" 1/4" MAX GAP . : \ r_ SHIM
e N 21 /1 JAMB DETAIL - WOOD SUBSTRATE ;
\j EETF'SDEmes 1B/6, 1C/7, 1D/7, 1E/8 FOR >< LR
ELF6375DXD ALTERNATE FRAME MATERIALS .
N.T.S. ASSEMBLY INFO L MIN. (2) 2 X 12

i REVISION DESGRIPTION Dy | CHKD. | APRVD. | APPVD. | DATE
DWN. CHK APPVD. APPVD.
e J-W CGW : CGW |ex: @@@K ”M 3900 DR, GREAVESRD | | e
o % [DATE: DATE DATE: DATE: . GRANDVIEW, MO 64030 . 4539
S 2| tomona | 1omoma | torons Air & Sound Control NONE [ecn:
g %?:' £ TITLE DWG. NO.
gogzsss ELF6375DXD TEST AND
ol o ¥ = @ :E
grasfiss APPROVAL DRAWINGS - =
EE§§§§§§ SHEET 3 OF 20 60-022375-00B
PEzIE 43




BLADE CLIP
REF 5/15

REF 4/15

3" X 2" X 1/8" ALUM ANGLE
FULL HEIGHT OF SECTION
REF ITEM 8 SHEET 16

LVR BLADE -

N

C7X9.8 BLADE SUPPORT
W/ SLOTS. REF DETAIL 3E,

ITEM 6 SHEET 15 — 715"
3/8-16 X 1" LG HX HEAD BOLT A307 ZNC PLATED ) )
W/ LOCKNUT & WASHER (6" FROM 7/8"+1/8"
ENDS, 18" MAX O.C.) ) }

_12532'@ _

EDGE OF SUPPORT AGAINST LOUVER SIDE

—\—

e

L |

/3" BLADE SUPPORT DETAIL

@EA
PRVEPAN T L
CHANNEL
* rxog /3 SUPPORT SLOT DETAIL
N 212" - N/ NTS.
\ /—-"\__ﬁ\ 114"
31/2" ’\
Lolle1

@ 9/16”

FNGINEER OF RECORD

CHELSEA GQ. WELCH
FNGINEERING DISCIFLINE

CIVIL ENGINEERING

v N.T.S.
ENDPLATES NOT SHOWN FOR CLARITY P4

3/8" —| |~ 11/4" (TYP)
/3" SUPPORT END PLATE DETAIL(WOOD SUBSTRATE ONLY)

- /NTS.
\/ END PLATE MAT'L: 1/4" THK A36 STL

REGISTRATION NUMEER
TX# 117359
RNy, z Z
SIREOF Z =z
;;: ':3}.-“" 8 8 E;A;r":EGRE REVISION DESCRIPTION g&'”' g;|:|<'D. gsf\"ﬂ- gs:’V‘D- DATE
I"‘:‘: w DWHN. CHEK. APPVD. APPVD.
7 CHELS % > sv. JW |ex CGW ([sv CGW |sv: [E@S[K(ZZM 3900DR GREAVESRD | | ' o
7 EAG. weLc
4 Ha | L o 4 [oATE: DATE: DATE: DATE: : GRANDVIEW, MO 64030 NONE ECN: 4539
9% 117359 7 ) O s g 101014 | 1010114 | 10/10114 EasEouciConngy -
'0%"0. < 7, = T g G TITLE DWG., NO.
.. A, /1 sao.,a L L ] é 8
W % 6 222588 ELFG6375DXD TEST AND
e pExEEEE
4 SEREEEE: APPROVAL DRAWINGS 60-022375-00B
E‘ o 23548587 SHEET 4 OF 20
e L S EE




C7X9.8 SUPPORT
REF ITEM 6 SHEET 15

1/8" MAX SHIM

3/8-16 X 1" LG HX HEAD BOLT A307
ZNC PLATED W/ LOCKNUT & WASHER
(6" FROM ENDS, 18" MAX O.C.)

1/8" 1/2"-1 2" 0.C)

T

Wy oy 4 /a0 7 | 3/8-16 X 2 1/2 LG HX

3" X 2" X 1/8" ALUM ANGLE
FULL HEIGHT OF SECTION < | T Wi LOCKNUT & WASHER
REF ITEM 8 ON SHEET 16 (6" FROM TOP &

BOTTOM OF LOUVER,
' 18" MAX O.C.)
a”~ 1/8" EXP. GAP
BACKING ROD & SEALANT /"4 VISIBLE MULLION DETAIL

- /NTS,
v END PLATE NOT SHOWN FOR CLARITY
REF 3A ON SHEET 4

ENGINEER OF RECORD

CHELSEA GQ. WELCH

FNGINEERING DISCIPLINE

CIVIL ENGINEERING

TX# 117359

CHANGE DWN. CHKD. APPVD. | APPVD. DATE
LETTER REVISION DESCRIPTION BY: BY: BY: BY:

DWN. CHK. APPVD. APPVD. PLOT SCALE
s, J-W |svx. CGW |sv: CGW {ev E@SKHM 3900 DR. GREAVES RD

DATE: DATE: DATE: GRANDVIEW, MO 64030 NONE ECN: 4539

DATE: .
10110114 | 10/10/14 | 1010114 aach ey

TITLE DWG. NO,

ELF6375DXD TEST AND
APPROVAL DRAWINGS 60-022375-00B

SHEET 5 OF 20

FOR OFFICE USE ONLY
FOR OFFICE USE ONLY

TOLERANGES
DECIMAL DIMENSIONS:

3PLACE 00K +.040

2PLACE XX +.020

FRACTION DIMENSIONS: + 1116
ANGLE DIMENSIONS + 2*

USE WIQ-007 & 008

UNLESS SPECIFIED OTHERWISE




1/4" & A307 BOLT OR
TEK SCREW
(2)#10 X 1" LG TEK |
SCREWS

1" MIN. EDGE DIST.

11/2" X11/2" X 1/4" X 2" LG
ALUM CLIP ANGLE. 2" FROM
CORNERS, 15" MAX O.C.

iz

;:‘4

\1 172" X1 1/2" X 1/4" X 2" LG

ALUM CLIP ANGLE. 2" FROM

CORNERS, 15" MAX. O.C.
ITEM 7 ON SHEET 16

BACKER ROD & SEALANT

LVR REF. —/

1/4" MAX. GAP

=

L METAL FRAME

SEE BELOW FOR MIN SPEC

/1A JAMB DET - METAL SUBSTRATE

\_-_/NTS.
14 GA STEEL MIN, SUBSTRATE

{CHELSEA GQ. WELCH

CIVIL ENGINEERING

REGISTRATION NUMBER

TX# 117359

1/8" THK ALUM MIN. SUBSTRATE

FOR OFFICE USE ONLY
FOR OFFICE USE ONLY

|

2 1/2"|(MIN. EDGE DISTANCE)

i

AT,

/

UHHI\

1 AN

LVR REF. —/

1/4" MAX. GAP —=

N\

/ 18"\ JAMB DET - CONCRETE

\j NT.S,

3000 MIN COMPRESSIVE STRENGTH
NOTE EDGE DISTANCE REQUIREMENTS

TS~ 1/4"¢ X 2 1/4" HILTI

KWIK CON II W/ WASHER
(1 3/4" MIN EMBED)

—— (2)#10 X 1" LG TEK

SCREWS

\7 CONCRETE REF

BACKER ROD & SEALANT

ChANGE REVISION DESCRIPTION oy CHKD. | APPVD. BT VD | DATE
DWN. CHK. APPVD, APPVD.
s J-W |[ex CGW |ev: CGW [sv: @@SKHM I000R GREAVESRD | | o
e 8 |DATE: DATE: DATE: DATE: ) GRANDVIEW, MO 64030 _ 4539
= =" 101014 | 1011014 | 10110114 Air & Sound Control NONE | ecn:
o g% § TITLE DWG. NO.
O w
Seg2isn ELF6375DXD TEST AND
'% +* ;%" W 0y L
mﬁxxaﬁha
Ses=cisy APPROVAL DRAWINGS -022375-00B
sxus329| SHEET 6 OF 20 60-022375
SETZEZ83




LVR REF

3"MIN

' = 4"x3"x1/4"x 4" LG

EXTRUDED ALUM CLIP ANGLE
r 3" FROM ENDS, 12" MAX O.C.
i D] REF DET 6 ON SHEET 17
ILI -L‘ \

T

N

.

N

=

1/4" MAX. GAP “l"'—“\ BACKER ROD

& SEALANT
/1 JAMB DET - CMU

- /NTS.
U MIN PRISM STR OF 1500 PSI AT INSTALLATION

CLIP (1" EMBED)

TYPE |, GRADE N, LIGHT, MED, NORMAL WEIGHT ASTM C90

GROUT MUST COMPLY WITH FBC SECT 2103.12
TYPEN, S, OR M MORTAR PER FBC SECT 2103.8

ENGINEER OF RECORD

CHELSEA GQ. WELCH

ENGINEERING DISCIPLINE

CIVIL ENGINEERING

REGISTRATION NUMBER

TX# 117359

1/4" & BOLT OR TEK
SCREW W/ WASHER

N

x 3/
< 14" G X1 1/4" HILTI ——

KWIK CON Il (2) PER

112" X'L' X 14" THK X 2" LG
FORMED ALUM CLIP ANGLE
3" FROM ENDS, 12" MAX O.C.
‘L' DIM = WALL DEPTH - 2"
REF DET 6A ON SHEET 17

~

LOUVER
REF

P

B O

\

L CMU REF

/

/10 JAMB DET - CMU

AN
(2) #10 X1" LG

v N.T.S.

TEK SCREWS

CHANGE
LETTER

REVISION DESCRIPTION

DWN. CHK'D.
BY: BY:

APPVD.
BY:

APPVD,
BY:

DATE

DWN,

Bv: J-W

CHK.

Bv: CGW

APPVD,

sv.  CGW

BY:

APPVD.

DATE:

10/10/14

DATE:
10/10/14

DATE:
10/10/14

DATE:

BUSIKIN

3900 DR. GREAVES RD
GRANDVIEW, MO 64030

Air & Sound Controf

PLOT SCALE

NONE

ECN: 4539

FOR OFFICE USE ONLY
FOR OFFICE USE ONLY

3 PLACE XXX + 010

FRACTION DIMENSIGNS: + 116
ANGLE DIMENSIONS + 2°
UNLESS SPECIFIED OTHERWISE

2PLACE XX +.020.
USE WIQ-007 & 008

TOLERANCES
DEGIMAL DIMENSIONS:

SHEET 7 OF 20

TITLE

ELF6375DXD TEST AND
APPROVAL DRAWINGS

DWG. NO.

60-022375-00B




1/4" DIA SELF-DRILLING SCREWS
LOCATE 2" FROM ENDS 16" MAX O.C.

] 2" X 2" X1/4" THK X LVR HEIGHT
EXTRUDED ALUM RETAINING ANGLE

\\ | N k
| \'D'

—f

|
SEALANT REF —/ \
2" X (D+2) X 1/4" THK X LVR HEIGHT

FORMED ALUMINUM SLEEVE ANGLE
3003-H14

1/8" l 1"-12" @

LVR
REF

N\ WALL STRUCTURE
REF

/1€ JAMB DET - UNIVERSAL SLEEVE

U N.T.S.

ENGINEER OF RECCRD

CHELSEA GQ. WELCH

ENGINEERING DISCIPLINE

CIVIL ENGINEERING

REGISTRATION NUMEER

TX# 117359

CHANGE

LETTER REVISION DESCRIPTION

DWN. CHKD.
BY: BY:

APPVD.
BY:

APPVD.
BY:

DATE

DWN.

av:  JW
DATE:
10/10/14

CHK.

sv. CGW
DATE:
10/10/14

APPV'D, APPVD.

sv:  CGW |er:
DATE: DATE:
10/10/14

[RBUSKIN

Air & Sound Controf

3900 DR. GREAVES RD
GRANDVIEW, MO 64030

PLOT SCALE

NONE

ECN:

4539

TITLE

2 ELF6375DXD TEST AND
APPROVAL DRAWINGS

ED OTHERWISE

08

NSIONS: + 1/16
ONS +2°

=1

SHEET 8 OF 20

FOR OFFICE USE ONLY
FOR OFFICE USE ONLY

3 PLAGE .XXX +.010
2PLACE XX +020

USE WIQ-007 &
UNLESS SPECIFi

TOLERANCES
DECIMAL DIMENSIONS:

FRACTION DiM|
ANGLE DIMENS|

DWG. NO.

60-022375-00B




C7X9.8 BLADE SUPPORT REF ITEM 6/15

-

(2) 3/8" @ A307 BOLTS, LOCKNUTS,
WASHERS

1/4" MAX. SHIM

/

DISTANCE

1" MIN. EDGE __

REF DETAIL 5 AND TABLE 1
ON SHEET 16

~

SUPPORT ATTACHMENT - METAL SUBSTRATE

N.T.S.

(28
N

ENGINEEROFRECORD
CHELSEA GQ. WELCH
ENGINEERING DISCIPLINE
CIVIL ENGINEERING
REGISTRATION NUMBER

TX# 117359

S ALY

A
ELSEAG. WeLCh 4

i 3
o,;,v,," 7359
'l@é wul
’ONALE ,.L

\\\‘_ l

FOR OFFICE USE ONLY

14 GA STEEL MIN. SUBSTRATE THICKNESS
1/8" THICK ALUM MIN. SUBSTRATE THICKNESS
SILL SHOWN, HEAD SIM

L LOUVER REF ] SUPPORT END PLATE ]

/S

C7X9.8 BLADE

~

NS

A

7"

AN

SUPPORT REF 6/15

3/8" @ A307 BOLTS,
LOCKNUTS, WASHERS

\7 METAL FRAME REF

/2" SUPPORT ATTACHMENT - METAL SUBSTRATE

\J N.T.S.

o
|
=
O CHANGE REVISION DESCRIPTION i e e
w : : : :
2] D CHC APPVD. APPVD.
- J-W CGW : CGW e E@@K JM 3900 DR. GREAVES RD PLOTSCHE
8 % : DAT$0I1 o4 DATI‘EI 0110/14 nmi:o” 04 DATE: Air & Sound Control GRANDVIEW, MO 64030 NONE ECN: 4539
e g Y § TITLE DWG. NO.
% 3252238 ELF6375DXD TEST AND

alxrZEIS
o EEEEE APPROVAL DRAWINGS - -00B
5 SuE00| SHEET9OF 20 60-022375-00
L SEzzzZEs




C7X9.8 BLADE SUPPORT REF ITEM 6/15

(2) 3/8" @ HILTI KWIK BOLT TZ
EXPANSION ANCHORS W/ 2 1/2"

/o

r 1/4" MAX. SHIM

7 ™— SUPPORT END PLATE ——F
REF DETAIL 5 ON SHEET 16

7 1/2" MIN

/28 SUPPORT ATTACHMENT - CONCRETE SLAB

7 1/2" MIN

N.T.S.

%

ENGINEER OF RECORD
CHELSEA GQ. WELCH

CIVIL ENGINEERING

REGISTRATION NUMEBER

TX# 117359

\\\\\\\
P (P:‘E OF 7-6.

‘tv“t,

FOR OFFICE USE ONLY

3000 PSI MIN CONCRETE
NOTE EDGE DIST REQUIREMENTS

FOR OFFICE USE ONLY

MIN EMBED, 7 1/2" MIN EDGE DIST

(2) 3/8" G HILTI KWIK BOLT TZ
EXPANSION ANCHORS W/ 2 1/2"
MIN EMBED, 7 1/2" MIN EDGE DIST

/

=7

C7 X 9.8 BLADE SUPPORT

_/

—— LOUVER REF

/2F\ SUPPORT ATTACHMENT - CONCRETE SLAB

o/

N.T.S.

+

SHEET 10 OF 20

FRACTION DIMENSIONS: + 1/16
UNLESS SPECIFIED OTHERWISE

ANGLE DIMENS|

USE WIQ-007 &

DECIMAL DIMENSIONS:

TOLERANCES
3 PLACE . XXX
2PLACE XX +.

APPROVAL DRAWINGS

60-022375-00B

CHANGE REVISION DESCRIPTION Gy | GHKD. | APPVD. | APPVD. | DATE
DWN CHK APPVD. APPVD. PLOT SCALE
J-W CGW |sv: CGW [ev [RUSIKIN 3900 DR GREAVESRD |
DATE: DATE; DATE: : GRANDVIEW, MO 64030 : 4539
Mortona [ tortoma | Tor0r1 Air & Sound Control M [
X TITLE DWG. NO.
2528z8 ELF6375DXD TEST AND




C7X9.8 BLADE SUPPORT
ﬁ C7X9.8 BLADE SUPPORT REF ITEM 6/15 \Q /

/ SUPPORT END PLATE
REF DET 5 ON SHEET 16 \
=
e =
] /g

GROUT w L
FILL N o *

\ I L 1/4" MAX. SHIM / _ \

=

5" MIN

L (2) 3/8" & A307 BOLTS, _/g Q ' ! lcla <
o

LOCKNUTS, WASHERS >

\ (3) 3/8" @ HILTI KWIK BOLT Ili YA

~ 6" X 4" X 1/2" X 18" LG

6" MIN EXPANSION ANCHORS W/ 13/8" MIN —=| |-
12" MAX 2 1/2" MIN EMBED A36 HDG STL ANGLE
REF DET 6B ON SHEET 18
/2 SUPPORT ATTACHMENT 6",8",10",12" - CMU BLOCK /26"\ SUPPORT ATTACHMENT - CMU BLOCK
- T1.S. - N.T.S.
v lh\jlllll IS:’RISM STR OF 1500 PS| AT INSTALLATION

TYPE |, N, LIGHT, MED, NORMAL WEIGHT ASTM C90
GROUT MUST COMPLY WITH FBC SECT 2103.12
TYPE N, S, OR M MORTAR PER FBC SECT 2103.8

ENGINEER OF RECORD

CHELSEA GQ. WELCH

CIPLINE

CIVIL ENGINEERING

REGISTRATION NUMBER

TX# 1173589

CHANGE DWN. CHK'D. APPVD. | APPVD. DATE
LETTER REVISION DESCRIPTION BY; BY: BY: BY:

DWN, CHK. APPVD. APPV'D,

s JW |ev: CGW [ev: CGW |ex: ﬁ@SKHM 3900 OR GREAVESRD | o

DATE: Air & Sound Control GRANDVIEW, MO 64030 NONE ECN: 4539

DATE: DATE:

DATE:
1010114 10/10/14 10/10/14

TITLE DWG. NO.

ELF6375DXD TEST AND
APPROVAL DRAWINGS 60-022375-00B

SHEET 11 OF 20

FOR OFFICE USE ONLY
FOR OFFICE USE ONLY

DECIMAL DIMENSIONS:

3 PLACE XXX +.010

2PLACE XX +.020

FRACTION DIMENSIONS: + 1116
ANGLE DIMENSIONS + 2°

USE WIQ-007 & 003

UNLESS SPECIFIED OTHERWISE

TOLERANCES




SEALANT REF

FOR D<=10
2"X12"X1/4"THK
X LVR WIDTH
FORMED ALUM
SLEEVE ANGLE
3003-H14

FOR D>10
2"X(D+2)X1/4" THK
X LVR WIDTH
FORMED ALUM
SLEEVE ANGLE
3003-H14

LVR
REF x

N

p
S /I
L

v

lDT

/ SUPPORT REF ITEM 6/15

1/2" DIA A307 ZNC PLATED BOLT, LOCKNUT, WASHER

2"X2"X1/4"X5" LONG EXTRUDED ALUM CLIP ANGLE
6063-T6 REF ITEM 9 ON SHEET 18

2"X2"X1/4"XLVR

WIDTH EXTRUDED
ALUM RETAINING

ANGLE

1/8" l/1"~12" 0.C.

/2H\ SUPPORT ATTACHMENT - UNIVERSAL SLEEVE

w NT.S.

ENGINEER OF RECORD

CHELSEA GQ. WELCH

ENGINEERING DISCIPLINE |

CIVIL ENGINEERING

REGISTRATION NUMBER

TX# 117359

FOR OFFICE USE ONLY

FOR OFFICE USE ONLY

1/4" DIA SELF DRILLING SCREWS
2" FROM ENDS, 8" MAX O.C.

CHANGE REVISION DESCRIPTION

DWN. CHKD.

APPV'D.

APPVD.

DATE

I PLACE XXX +.010

2PLACE XX +020

FRACTION DIMENSIONS: + 1/16
ANGLE DIMENSIONS + 2°

USE WIQ-007 & 008

DECIMAL DIMENSIONS:

TOLERANCES

LETTER BY: BY: BY: BY:
DWN. CHK. APPVD. APPVD.
e:  J-W [evx CGW [sv  CGW |[er @@@K HM 3900 DR. GREAVES RD FLOTSCAE
DATE: DATE: DATE: DATE: . GRANDVIEW, MO 64030 .
10/10/14 1010114 | 10/10/14 Air & Sound Control NONE | ecw: 4539
! TITLE DWG. NO.
ELF6375DXD TEST AND

UNLESS SPECIFIED OTHERWISE

SHEET 12 OF 20

APPROVAL DRAWINGS

60-022375-00B




2"X2"X1/4"X5"LONG EXTRUDED

1/2"® A307 ZNC PLATED BOLT,

ENGINEER OF RECORD

CHELSEA GQ. WELCH

ENGINEERING DISCIPLINE

CIVIL ENGINEERING

REGISTRATION NUMBER

TX# 117359

.'_q._\\'\\\

/20°\ SUPPORT ATTACHMENT - CMU BLOCK

w N.T.S.

FOR OFFICE USE ONLY
FOR OFFICE USE ONLY

LOCKNUT & WASHER |
ALUM CLIP ANGLE 6063-T6 T 1/4" DIA SELF-DRILLING SCREW
REF. ITEM 9 ON SHEET 18 | /— 2" FROM ENDS, 8" MAX O.C.
<_ I >
- Il
ALUM SLEEVE ANGLE / — ]
3003-H14 {
REF 2H/12 \
< ~ 2"X2"X1/4"XLVR WIDTH
7 EXTRUDED ALUM
/ RETAINING ANGLE
BTWN ANGLE\ 3003-H14
& SLEEVE / 114" |/ -

f;’#gi REVISION DESCRIPTION g:‘{";' bt g";‘:"”- gst"m- QT""D' DATE
DWN. CHK. APPVD, APPVD.
e.  JW |er CGW Jev: CGW |sv E@@K HM 3900 DR. GREAVES RD PLOT SeAE
e 4[DATE DATE: DATE: DATE: ) GRANDVIEW, MO 64030 . 4539
s = 101014 1010/14 | 10/10114 Air & Sound Control NONE | Ecn: :
5 2 % TILE DWG. NO.
(=]
§§§§5§§ ELF6375DXD TEST AND
plixrZ295
SEXR2588 APPROVAL DRAWINGS - -
%Egggg £4| SHEET 13 OF 20 60-022375-00B
SRzzgz¥s




3.686
I— 080 TYP

—
——]

— 129 |~

[— 1,601 —

581 -

|
L— .500 500 —-‘ e
6.000 (+.000/-040) — |

(==

ITEM 2 - SILL FRAME ELF6375DXD
N.T.S.
ITEM 1 - HEAD FRAME ELF6375DXD 195 THK 6063-T5 ALUM
N.T.S. RUSKIN NO. 70-021130-00B
.080 THK 6063-T5 ALUM
RUSKIN NO. 70-020578-00B
6.000
=— 1.615 ——
188 — :‘2385 -
085 " s | " *
el | S
l-t;OO t %LSE .725 (£.014) ‘=‘ 1-0}00
rim
080 — 5.340
5.420
ENGINEER OF RECORD
CHELSEA GQ. WELCH ITEM 3 - JAMB FRAME ELF6375DXD
ENGINEERING DISCIPONE N.T.S.
CIVIL ENGINEERING .080 THK 6063-T5 ALUM
O RUSKIN NO. 70-020382-00B
TX# 117359
- 2
§ 8 CHANGE REVISION DESCRIPTION Dyl | CHKD. | APPVD. | APPVD. | DATE
a g o JW |sv CGW [sv CGW [ov BUSKIN  wooor creavesro | 7075
8 8 5 ;,% “lorona | domona | Gomomna T Air & Sound Control CRANDVIER, MO 610% NONE |ecw: 4539
E LI__ % g&" ]'g TITLE DWG. NO.
(u5 CUS ggggggg ELF6375DXD TEST AND
EEER: APPROVAL DRAW - -
. o S4uECHg| SHEET 14 OF 20 INGS 60-022375-00B
LL L RESSEZSS




P

522 658

5.041

4,918 (+.050 / -.020)
4.318
4,852
5.964
3.385
_ 4030 (+.o;63:rl-3.050)
w
478 —‘%
1,178 T - )
l 7'99 4 . aze
T A e
ITEM 4 - BLADE ELF6375DXD ITEM 5 - BLADE BRACE ELF6375DXD
N.T.S. N.T.S.
.080 THK 6063-T5 ALUM .080 THK 6063-T5 ALUM
RUSKIN NO. 70-020382-00B RUSKIN NO. 70-020568-00B
f— 200 ——| |
Z 366
+
@.919
7 =l =200
FNGINEER OF RECORD '31;__!_
CHELSEA GQ. WELCH ITEM 6 - REAR SUPPORT CHANNEL C7x9.8 ELF6375DXD
ENGINEERING DISCIPLINE
CIVIL ENGINEERING NG A6 STEEL
REGISTRATION NUMBER USED FOR LOUVER HEIGHTS OVER 111" TO 119.75"
TX# 117359 REF SHEET 19 & 20 FOR ALTERNATE SUPPORTS
P >
SO, |2 z
;,:'?}b--%-f.%;;u,.’ 8 8 e REVISION DESCRIPTION DWN. | GHKD. | APPVD. | APPVD. | DATE
L&Y ‘-._‘, 0' D 7 DWN CHK APFVD. APPVD, PLOT SCALE
gCHELSEAG WELCH : o a o JW_|ew CGW_|ov CGW [ [rsu) USIKIN GRANDVIEW, MO8 | NONE . 4539
Y 7 O & £[Morona | romona | Toroma Air & Sound Control ECN:
W% é‘ﬁa & e 82,t " ELF6375DXD TEST AND -
‘ Ao Z o
|‘ L gEgZo8y
Wl ua%o O gEsiZiss
x o SE==22%5 APPROVAL DRAWINGS 60-022375-00B
8 8 géssgggg SHEET 15 OF 20




2.000

5

@.437 x .75 SLOT —/

]

875

C

T

ETF
1

| s

625

1

4 |

|
500
000

b

2.000

@.283 —/

ITEM 7 - CLIP ANGLE

ELF6375DXD

N.T.S.

FNGINEER OF RECURD

CHELSEA GQ. WELCH

FNGINEERING DISCIPL'INE |

CIVIL ENGINEERING

REGISTRATION NUMBER

TX# 117359

FOR OFFICE USE ONLY

MAT'L: ALUM 5052-H32 OR 6063-T6
RUSKIN #: 85-021637-00B

FOR OFFICE USE ONLY

TABLE 1 - END PLATE DIMENSIONS

10.000
5.000 3.955
% WALL DEPTH L X
CONCRETE
\ SLAB 7.5 2.750
6" CMU 7.5 2.385
| — @.563 R
L O a” 75 | 4385
10" CMU 7.5 6.385
lx‘ [13
1.000 ) J
m C7X9.8 END PLATE ELF6375DXD
U N.T.S.
MAT'L: 1/4" THK A36 HDG STL
SEE DET 2A, 2B, 2C FOR ALTERNATE SUPPORTS
__| |__ 125 |=-—6.000 FROM ENDS 18.000 O.C.
3.000 O
1.906 %
e 2000 __‘ \— @.438 X .875 SLOT
ITEM 8 - REAR SUPPORT ATTACHMENT ANGLE ELF6375DXD

N.T.S.

6063-T5 AL EXTRUDED ALUM

CHANGE REVISION DESCRIPTION

DWN. CHK'D. APPVD. | APPVD. DATE

FRACTION DIMENSIONS: + 1/16

ANGLE DIMENSIONS + 2°

USE WIQ-007 & 008
UNLESS SPECIFIED OTHERWISE

IPLACE 00+ 010
2PLACE XX +020

TOLERANCES
DECIMAL DIMENSIONS:

SHEET 16 OF 20

APPROVAL DRAWINGS

LETTER BY: BY: BY: BY:
DWN. CHIK. APPV'D, APPVD.
e: JW |ev CGW |[ev: CGW |av: E@@K JM 3900 DR, GREAVESRD | oo 4539
DATE: DATE: DATE: DATE: X GRANDVIEW, MO 64030 NONE ore:
10/10/14 | 10/10114 | 10/10/14 Air & Sound Contro/ -
. TITLE DWG. NO.
ELFE6375DXD TEST AND

60-022375-00B




' 4.000 i i 4,000 l

3.000 / 1 3.000

2.250 -/

1
&

I— L% = WALL DEPTH -2 —-l
T T
11

]

.
C

875 l
41 1500

i

o250/
7f'D *:0 L: WALL DEPTH - 2 ?___ .
.283 —/ _*_ '
1.0*00
€ 2.000
/6 "\ ATTACHMENT ANGLE (CMU) ELF6375DXD i
- N.T.S. i
MAT'L: ALUM 6063-T6
/6A™ ATTACHMENT ANGLE (CMU) ELF6375DXD
- N.T.S.
U MAT'L: ALUM 3003-H14
ENGINEER OF RECORD
CHELSEA GQ. WELCH
Bl
CIVIL ENGINEERING
REGISTRATION NUMEBER
TX# 117359
o~ > >
S5E OF T = Z
:é‘p: :t?\.‘ = O CHANGE .
- ESUN O REVISION DESCRIPTION DWN. | CHKD. | APPVD. | APPVD.
P, '% I 'p' 0 L LETTER BY: BY: BY: BY:
gCHELSEA G. WEL(;H 'é % % . . vt CGW B E@SKHM 3900 DR GREAVESRD | |
"' '?:.‘-, . ™ EJJ 8 g & o o1a I oo P DATE: Pyt —— GRANDVIEW, MO 64030 NONE o
0..0 4 T ™ 5  £% %‘ TITLE DWG. NO.
A m e Sagiiss ELF6375DXD TEST AND
Wi o;ﬁdf ° 5 ZERR APPROVAL DRAWINGS 60-022375-00B
O 8 55%%’%5%@ SHEET 17 OF 20
LL REcEZ8S




| 18,000 | ; 6000 | 5.000
= T i
4375 X 2
4.000 sLoT 4,000
. oioo — D - i 2.000 2.000
T[ 5.000 £.000 —| | 500
6.000 B
— 1.000
E _
1000 | |
O
8.000
5.000
O 18.000
?.563 \
. \/)
\
@7/16 (3)
750 ~
—t 750 P—
0

/68" ATTACHMENT ANGLE (CMU) ELF6375DXD
\;/' N.T.S.
MAT'L: A36 HDG STL

ITEM 9 - SUPPORT ATTACHMENT ANGLE(SLEEVE) ELF6375DXD

ENGINEER OF RECORD N T S .
CHELSEA GQ. WELCH 6063-T6 AL EXTRUDED ALUM
FRGINEERING DISCIPLINE
CIVIL ENGINEERING
REGISTRATION NOMBER
TX# 117359
> 2
.’-“,\\\\\\\ = =
-..-,‘pﬁ:é__‘,:’_,’fmg\\\‘ O O o REVISION DESCRIPTION DWN. | CHKD. | APPVD. | APPVD. | DATE
,”‘: * ..:.Ez? '.‘ I('I;)J I(JDJ DWN CHK APPVD. APPVD. \ : : '
7 '.,'."5 = > B ~JW |ex: CGW |sv: CGW |v IRUSICN J00DR GREAVESRD |
zC:-iELSEA G. WELCH ?' 6 8 % § DAT$6 10114 DATI?I:OI10I14 oATgl:OI10I14 DATE: Air & Sound Control GRANDVIEW, MO 64030 NONE ECN: 4539
"'%'.. L) 1= ™ ; 2% 2 THLE DWG. NO.
W & o saueis ELF6375DXD TEST AND
W o T SR ReEiit| SLEET 18 OF 20 APPROVAL DRAWINGS 60-022375-00B
ASSSE B
I L REZZEZ2S




10.000

5.000

4.040

=]

=

cd

| — ©.563

|'—"- 1.000

.250 —I

/58 C6X8.2 END PLATE

114" |/

ELF6375DXD

ENGINEER OF RECORD

CHELSEA GQ. WELCH

ENGINEERING DISCIFLINE

CIVIL ENGINEERING

REGIS TRATION NUMBER

TX# 117359

N

"NT.S.
MAT'L: 1/4" THK A36 HDG STL
LOUVER HEIGHTS OVER 99" TO 111"

10.000

5.000 4.094

v o 4B

| \x
=—=munntl B
/58" C5X6.7 END PLATE  ELF6375DXD

N

NT.S.
MAT'L: 1/4" THK A36 HDG STL

LOUVER HEIGHTS OVER 86" TO 99"

> >
-“\\.\\\ 2' 2
o 8 8 fgﬁr"é%'z REVISION DESCRIPTION g\“x“- gw('o. gsz"m' ch""n- DATE
w DWN. CHK. APPVD, APPVD.,
g - s. J-W |ev CGW |sv CGW |sv [‘f}@@ﬁ@ HM 300 DR GREAVES RD |
L e 4[oATE: DATE: DATE: DATE: ) GRANDVIEW, MO 64030 . 4539
o 8] S | Mo0m4 | 1010114 | 10M0/14 Air & Sound Control NONE |eon:
i TS & %3:' £ TITLE DWE, NO.
i i Seadiss ELF6375DXD TEST AND
ol e & = E- : E
v Jr&=2iey APPROVAL DRAWINGS - -00B
s 5 Eﬁggm SHEET 19 OF 20 60-022375-00
w b gazazz3s




10.000

4.208

5.000

}

10.000
5.000 4.208

N

\ @.563

|“— 1.000

.250 -t

/50 C4X5.4 END PLATE ELF63750%D

1/4" I/

1/4" V

N

\ 0.563

|
250

@ C3X4..1 END PLATEELF6375DXD

10.000

\__/ NTS. \_-_/ NTS. S0 o
MAT'L: 1/4" THK A36 HDG STL MAT'L: 1/4" THK A36 HDG STL
LOUVER HEIGHTS OVER 74" TO 86" LOUVER HEIGHTS OVER 27" TO 74"
| — 8.563
2 &
] e |
|—— 1.000 00 J
/56 2x2x1/4 ANGLE END PLATE  ELF6375DXD
FNGINEER OF RECURD v NTS
MAT'L: 1/4" THK A36 HDG STL

CHELSEA GQ. WELCH LOUVER HEIGHTS TO 27"
CIVIL ENGINEERING
REGISTRATION NUMBER
TX# 117359

5 .

pa

8 8 v REVISION DESGRIPTION DVIN. CHKO. APPVD. | APPVD. | DATE

% % " o J-W B. CGW Ss'WDCGW Bv. E @SKEM 3%000R GREAVESRD | | o

o O s £ Poromna | Gomona | Gomona | Air & Sound Control SRANDHIEH, o om0 NONE | Ech: 4539

u__ E g %2‘ E TITLE DWG. NO.

e i S2g22ss ELF6375DXD TEST AND

SR APPROVAL DRAWIN - -
s § §E§§§§§g SHEET 20 OF 20 GS 60-022375-00B
I SkazgZys




